
 

 

 ) عبارت هاي زیر را به مجموع یا تناقض دو تابع مثلثاتی تبدیل کنید . مثال
 

)1 sin 5 .sin7A x x=      )2 sin105 cos75A ° °=  
 
) ( ) ( )3 sin 11 ,37 .cos 78 ,53A ° °′ ′=    ) 34 cos cos

2 2
a aA = ⋅  

 

) ( ) ( )5 cos 18 ,27 cos 17 ,3A ° °′ ′=    ) 26 sin sin
3 3
a aA = ⋅  

 

) ( ) ( )7 cos .cosA a b a b= − +    )8 sin .cos
3 3

A a aπ π   = − +   
   

 

 

)9 sin sin
2 2 4
a aA π = ⋅ − 

 
    ) ( ) ( )10 sin sinA a b c a b c= + − + +  

 

)11 2 sin 3 sin cos 4A x x x= +    ) 312 2 sin .cos
6 6 2

A x xπ π   = + − −   
   

 

 
 

 درستی تساوي هاي زیر را تحقیق کنید. )مثال

 

) ( ) ( )13 2 sin 45 sin 45 cos 2α α α+ − =   ) 2 sin .cos 314 2cos 2 1
sin 2
α α α

α
= −  

 
) 2 215 sin .sin( 2 ) sin .sin( 2 ) sin sinα α β β α β α β+ − + = −  

 

) 2 216 sin( ).sin( 3 3 ) sin ( 2 ) sin ( 2 )α β α β α β β α+ − = − − −  

 
) 2 217 cos cos cos cos( 2 sin sinα α β β α β α β. ( + 2 ) − . + ) = −  

 

) sin sin 2 sin 3 sin6 sin 4 sin1318 tan 9
sin cos 2 sin 3 cos6 sin 4 cos13a

α α α α α α α
α α α α α

+ +
=

+ +
 

 
)19 sin( 3 )sin( 3 ) sin( ) sin( ) sin 4 sin 2α β α β α β α β α α+ − − + − =  



 

 

) 7 120 sin .sin
4

π π
=

12 12
 

 

) 2 4 6 3 521 sin sin sin 4 sin .sin .sin
7 7 7 7 7 7
π π π π π π
+ − =  

 

) sin722 2cos 2 2cos 4 2cos6 1
sin

x x x x
x
− − − = 

 

                   ) [ ]123 sin( ) sin( ) cos
2 sin

a b a b b
a

+ + − = 

 
) ( )24 tan tan tan tanA a b c a b c= + + − − − 

 
)25 4 sin 20 sin 80 2 sin10 1− =    

 

)26 sin sin sin sin( ) 4 sin .sin .sinα β β γ γ αα β γ α β γ + + +
+ + − + + =

2 2 2
 

      

) 1 4 sin10 sin7027 2
sin10

−
=

 



 

 

) 2 sin .cos 328 2cos 2 1
sin 2
a a a

a
= −  

 

)29 4 cos .cos .cos sin sin sin
2 2 2
A B C A B C= + + 

 
 


